( ¢@ 3550mm)

1-1
1-2
Do 2 (2Do  Ho)
Do 2 (2Do<Ho)  Terzaghi
2
2 2
1-1 1-2 1
1-3 N
(H) N) (@) © v) ()
12.944 2 0 0 16.000 7.000

y =16.000
y "=7.000

ST

HO0=12.944m

D0=3.550m



1-4

A
1 A) (k)
k (MN/m3) k (MN/m3)
10 20 40 80 0 2.5 5.0 10

A A

0.4 o o 0.6 o o

0.5 e} o) o o) 0.7 e} o) e} o)

0.6 o o o o 0.8 o o o o

0.7 o o 0.9 o o

™) K
A k (MN/m3) N
0.35 0.45 30 50 30 N
0.45 0.55 10 30 15 N 30
0.50 0.60 0 10 N 15
0.35 0.45 30 50 25 N
0.45 0.55 10 30 8 N 25
0.45 0.55 5 10 4 N 8
0.55 0.65 5 10 4 N 8
0.65 0.75 0 5 2 N 4
0.75 0.85 0 N 2
1
)
A =0.80
= 3 (MN/m3)

ST




=2

woJ

h+t
TIAUNGE
RV,
Di | Do
AT
h+t
-2.1.1 2
[ S50 ]
Do mm 3550
Di mm 3294 1
mm 1000
h mm 125
tr mm 14
Rc mm 1716.8 2
a ° 14.5
Nsg 6
Wy kN/m 10.80
1 Di=Do-2 (h+t)

= 3550 - 2x (125 + 3.0 ) = 3294 (mm)
2 Rc=Do/2-yo

2 (tr h (t+h/2)+25 2 t/2)
2 (tr h+25 t2)
2x (14x 125x (3.0+125/2)+25% 3.02x 3.0/ 2)
2x (14x 125 + 25x 3.02)

Yyo

= 58.2 (mm)
yo -2 )
t 3.0 (mm)
tr 14 (mm)

Rc = 3550 / 2 - 58.2 = 1716.8 (mm)

ST



2-2

Wo = 0.000KN/m?

TN,

Wo

-2.2.1

Po = 0.000 (KN/m2)

Po

NN,

Po

-2.2.2

ST



2-3

Pi =Pi1 nj
= 1000x 10

= 10000 (kN)

Pi1

nj

1000 (kN/

10 (

)

)

ST



3-1

3-2

3-3

Es =210x 108 (N/mm2)
O ba =215 (N/mm2)
o0 A" 8 Oca =325
o8 A" 115 Oca =325-142x (A'-8)x 1.50
0 ea =1200000 /A *2 (N/mm?2)
oy =325 (N/mm2)
A
)
4.6 6.8 8.8 10.9
(N/mm2) 120 210 290 380
(N/mm2) 90 150 200 270
4.6 6.8 8.8 10.9
(N/mm2) 240 480 660 940
(N/mm2) 400 600 830 1040

ST




4-1

efaN

VA s

AN

-4.1.1

ST



4-2

(1) :Pvi
Wo = 0.000 (kN/m?)
Po = 0.000 (KN/m?2)
Psv =y Ho

=16.000x 12.944

= 207.104 (KN/m?)

Pwv= 0.000 (kN/m?)

Pvi=Wo + Po + Psv + Pwv

=0.000 + 0.000 + 207.104 + 0.000

=207.104 (kN/m?)

2) : PH1

WH =A  Wo=0.80x 0.000 = 0.000 (kN/m?)

PH =\ Po=0.80x 0.000 = 0.000 (kN/m2)

Pshi=A (Psv+y (Do/2-Rc))

= 0.80x (207.104 + 16.000x (3.550 / 2 - 1.7168) ) = 166.428 (kN/m?)

Pw1 = 0.000 (kN/m?)

PH1= WH + PH + Psh1 + Pw1

= 0.000 + 0.000 + 166.428 + 0.000 = 166.428 (KkN/m2)

ST



(3) : PH2

Psha =A (Psv+y (Do/2+Rc))
=0.80x (207.104 + 16.000x (3.550 /2 +1.7168))

= 210.378 (kN/m?)

Pwz = 0.000 (KN/m?)

PH2 = WH + PH + Psh2 + Pw2

=0.000 + 0.000 + 210.378 + 0.000

= 210.378 (KN/m?)

4) Py
im wg = 10.80 N/m S50
Wy
Wg 10.80
Wg = = = 1.001 (kN/m?)
2 1T Rc 2x 11 x 1.7168

Pg=m Wg =7 x 1.001=3.145 (kN/m?)

ST



tr

k = 3 (MN/m?)

(=3000 (kN/m?))

(2 Pvi-PH1-PH2) Rc*

(m)

24 (n Es Is+0.0454 k Rcf

-4.2.1

100 (%)

Es =210 (KN/mm2) = 210x 106 (kN/m?2)

S50
3.0 (mm)
125 (mm)
14 (mm)

1000 (mm)

(m4/m)

-4.2.2

ST

10



11
Yo i

2 (r h (t+h/2)+25 ©2 t/2)
2 (tr h+25 t2)
2x (14x 125x (3.0 +125/2)+25% 3.02x 3.0/ 2)
2 x (14x 125+ 25x 3.02)

yo=

58.2 (mm)

yi =(h+t)-yo=(125+3.0)-58.2 =69.8 (mm)

2 Is
t i3 t -t)
Is = ( ryi + r (yo )
3 3
25 2 (yo-t/2)2 st v ) 2
+ 0 - +
y 12
B 14x 69.83 N 14x (58.2 -3.0)3
3 3
25x 3.0x 3.03
+25x 3.02x (58.2-3.0/2)2+ " )x 2

6190845 (mm* / Ring)

(1m)
| Is(mm# / Ring) 6190845
S = =
B(m / Ring) 1.00

6190845 (mm4) ( = 6190845x 10-12 (m4))

b) 0
5 = (2 Pvi-PH1-PH2) Rc*
24 (n Es Is+0.0454 k Rc?*)
_ (2x 207.104 - 166.428 - 210.378 )x 1.7168*
24x (11.0x 210x 106 x 6190845x 10-12 + 0.0454x 3000x 1.71684)
= 0.005452 (m)
c)

q=k & =3000x 0.005452 = 16.356 (KN/m?)

ST



THEE Wo,Po

beyidll

IR

TINIX,

V4P

Pt

U T

TTTTT Pu

TP,

-4.3

PHZ

e}
Il
=~

Y

Pv1 kN/m? 207.104
PH1 kN/m2 166.428
PH2 kN/m? 210.378
Wy kN/m2 1.001
Pg kN/m2 3.145
q kN/m2 16.356
Rc m 1.7168
Is mm# 6190845
k kN/m3 3000
Es kN/m2 210x 108
n % 100
C % 0
o m 5.452x 10-3

ST




1
4
Nvi =Pvi Rc sin20

Mvi = (1-2

sin28 ) Pvi Rc?

Qvi = - Pvi Rc sin@ cos@
-5.1.1

0
“) Mvi(kN m/m) Nv1(kN/m) Qv1(kN/m)

0 152.605 0.000 0.000
10 143.402 10.721 -60.804
20 116.902 41.592 -114.274
30 76.302 88.889 -153.960
40 26.500 146.907 -175.077
50 -26.500 208.649 -175.077
60 -76.302 266.667 -153.960
70 -116.902 313.964 -114.274
80 -143.402 344.835 -60.804
90 -152.605 355.556 0.000
100 -143.402 344.835 60.804
110 -116.902 313.964 114.274
120 -76.302 266.667 153.960
130 -26.500 208.649 175.077
140 26.500 146.907 175.077
150 76.302 88.889 153.960
160 116.902 41.592 114.274
170 143.402 10.721 60.804
180 152.605 0.000 0.000

ST
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1
4
NH1 = PH1 Rc cos20

MH1 = (1-2 cos?®) PH1 Rc?

QH1 = PH1 Rc sin@ cos6

-5.1.2
0
“) MH1(kN m/m) NH1(KN/m) QH1(kN/m)

0 -122.633 285.724 0.000
10 -115.237 277.108 48.862
20 -93.942 252.300 91.830
30 -61.316 214.293 123.722
40 -21.295 167.669 140.691
50 21.295 118.054 140.691
60 61.316 71.431 123.722
70 93.942 33.423 91.830
80 115.237 8.616 48.862
90 122.633 0.000 0.000

100 115.237 8.616 -48.862
110 93.942 33.423 -91.830
120 61.316 71.431 -123.722
130 21.295 118.054 -140.691
140 -21.295 167.669 -140.691
150 -61.316 214.293 -123.722
160 -93.942 252.300 -91.830
170 -115.237 277.108 -48.862
180 -122.633 285.724 0.000

ST
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1

MHO = ——
48
1

NHO = ——
16
1

HO= ——
Q 16

(6-3 cos® -12 cos?® +4 cos’0 )

(cosB +8 c0s20 -4 cos%0 )

(PH2 - PH1) Rc?

(PH2 - PH1) Rc

(sin@ +8 sin® cosB -4 sin@ cos20 ) (PH2 - PH1) Rc
P
-5.1.3

]
“) MHo(kN m/m) NHo(KN/m) QHo(kN/m)

0 -13.494 23.579 0.000
10 -12.879 23.217 4.094
20 -11.055 22.093 8.041
30 -8.096 20.127 11.620
40 -4.161 17.272 14.493
50 0.475 13.609 16.219
60 5.397 9.432 16.336
70 10.067 5.271 14.483
80 13.866 1.858 10.536
90 16.192 0.000 4.716
100 16.565 0.417 -2.368
110 14.741 3.555 -9.767
120 10.795 9.432 -16.336
130 5.149 17.566 -20.935
140 -1.462 27.006 -22.661
150 -8.096 36.463 -21.052
160 -13.753 44.534 -16.209
170 -17.553 49.961 -8.810
180 -18.891 51.874 0.000

ST

15



Mg=(10.2346 - 0.3536 cos® ) g Rc?
Ng=0.3536 cos@ g Rc

Qq=0.3536 sinB g Rc

450 9 90° -5.1.4
Mg=( - 0.3487 + 0.5 sin20 +0.2357 co0s3@ ) q Rc?
Ng=(-0.7071 cosB +cos20 +0.7071 sin26 cos6 ) q Rc
Qq=(sin®@ cosB -0.7071 cos2@ sinB) q Rc
0
) Mq(kN m/m) Ng(kN/m) Qq(kN/m)
0 -5.737 9.929 0.000
10 -5.478 9.778 1.724
20 -4.709 9.330 3.396
30 -3.453 8.599 4.965
40 -1.749 7.606 6.382
50 0.352 6.329 7.542
60 2.688 4.538 7.860
70 4.929 2.490 6.842
80 6.627 0.743 4.212
90 7.294 0.000 0.000
100 6.627 0.743 -4.212
110 4.929 2.490 -6.842
120 2.688 4.538 -7.860
130 0.352 6.329 -7.542
140 -1.749 7.606 -6.382
150 -3.453 8.599 -4.965
160 -4.709 9.330 -3.396
170 -5.478 9.778 -1.724
180 -5.737 9.929 0.000

90° 6  180° Qy 0 ©6 90° Qq

ST
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()

0° 6 90°
3 5
Mg :(? m-0 sme-T cosb )
1
Ng= ( 6 sind - T cos® ) Wy Rc
1
Qy=-( 6 cosB + T sinB ) Wg Rc

Wy Rc?

0 O

-5.1.5
5 1

Mg= (-—— m +(m -6 ) sind -5 cosO -5 W Wy Rc?

Ng = (- sin® +6 sin@ +1  sin20 -% cosB ) Wy

Qy= ((m -6 ) cosB -1 sinB cosO -% sin@ ) Wyg
]
) Mg(kN m/m) Ng(KN/m) Qug(kN/m)
0 1.017 -0.286 0.000
10 0.965 -0.230 -0.345
20 0.813 -0.064 -0.662
30 0.574 0.202 -0.922
40 0.268 0.552 -1.103
50 -0.077 0.965 -1.183
60 -0.429 1.415 -1.148
70 -0.752 1.875 -0.987
80 -1.008 2.313 -0.699
90 -1.159 2.699 -0.286
100 -1.169 2.923 0.225
110 -1.023 2.892 0.748
120 -0.729 2.634 1.190
130 -0.325 2.203 1.475
140 0.134 1.679 1.555
150 0.584 1.148 1.415
160 0.962 0.696 1.074
170 1.212 0.393 0.578
180 1.300 0.286 0.000

ST




5-2

18

M = Mvi + MH1 + MHo + Mg + Mg
N = Nv1 + NH1 + NHo + Ng + Ng

Q=Qvi+ QHi+ QHo+ Qq+ Qg

8 () M(kN m/m) N(KN/m) Q(KN/m)
0 11.758 318.946 0.000
10 10.773 320.594 ~6.469
20 8.009 325.251 ~11.669
30 4.011 332.110 -14.575
40 -0.437 340.006 -14.614
50 ~4.455 347.606 ~11.808
60 ~7.330 353.483 ~7.190
70 -8.716 357.023 -2.106
80 -8.680 358.365 2.107
9 ~7.645 358.255 4.430

100 -6.142 357.534 5.587
110 -4.313 356.324 6.583
120 -2.232 354.702 7.232
130 -0.029 352.801 7.384
140 2.128 350.867 6.898
150 4.021 349.392 5.636
160 5.460 348.452 3.913
170 6.346 347.961 1.986
180 6.644 347.813 0.000
C] )

ST



5-3

11758 109773

6644 6346

318946 320,594

347.813 347.961

-6.469

0000 1986

-14575

4.021
5.460
325251
332110
340.006
347.606
353483
357.023
358.365
358.255
90
357.534
356.324
354.702
352.801
350.867
349.392
348.452
-11.669

9 =0°
=11.758 (kN m)
9 =70°
= -8.716 (kN m)

9 =80°
= 358.365 (kN)

9 =40°
= -14.614 (kN)

ST
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6-1

6-2

( S50 )
t 3.0 (mm)
h 125 (mm)
tr 14 (mm)
B 1000 (mm)
( Im )
(yo i)
(yo i)
yo = 58.2 (mm)
yi =69.8 (mm)

s = 6190845 (mm?)

(A)

A=2 (tr h+25 ) 1000/B

A¥VTL-b

N
(e}l
—
N
(&)
—

-6.1.1

(Is)

(1) 4-2(5)

=2x (14x 125 + 25x 3.02)x 1000 / 1000

= 3950 (mm?)
Is 6190845
Zo = =
yo 58.2
Is 6190845
Zi= =
yi 69.8

= 106372 (mm?)

= 88694 (mm3)

ST
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6-3

Go=N/A+Mo/Z0 (N/ 2

i =N/A-Mo/Z (N/ 2

Mo =(1+C ) M (¢ 0 )

[ N/mm2 ]
0 N/A +(Mo/Zo) -(Mo/Zi) oo i
0 80.7 110.5 -132.6 191.2 -51.9
10 81.2 101.3 -121.5 182.5 -40.3
20 82.3 75.3 -90.3 157.6 -8.0
30 84.1 37.7 -45.2 121.8 38.9
40 86.1 -4.1 4.9 82.0 91.0
50 88.0 -41.9 50.2 46.1 138.2
60 89.5 -68.9 82.6 20.6 172.1
70 90.4 -81.9 98.3 8.5 188.7
80 90.7 -81.6 97.9 9.1 188.6
90 90.7 -71.9 86.2 18.8 176.9
100 90.5 -57.7 69.2 32.8 159.7
110 90.2 -40.5 48.6 49.7 138.8
120 89.8 -21.0 25.2 68.8 115.0
130 89.3 -0.3 0.3 89.0 89.6
140 88.8 20.0 -24.0 108.8 64.8
150 88.5 37.8 -45.3 126.3 43.2
160 88.2 51.3 -61.6 139.5 26.6
170 88.1 59.7 -715 147.8 16.6
180 88.1 62.5 -74.9 150.6 13.2

(*) )
oomax (0 =0°) =191.2 (N/ ?) 215(N/ 2) OK
o imax (0 =70° ) =188.7(N/ ?) 215(N/ ?2) OK
M N
M kN m/m x 105N mm/m
N kN/m x 103N/m

ST
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7-1
DERTE
-7.1.1
t mm 3.0
ts mm 9
bs mm 89
us mm 190
h mm 125
hs mm 118
Is mm 972
(R1) (R2)
Ri=1.5 ts=1.5x 9=13.5(mm)
R2=2.5 ts=2.5x 9=22.5 (mm)
(ec) 1.0
1 Pj1 = 1000 (kN) = 1000x 103 (N)
7-2
Q) Ar

Ar=40 t2+ts (hs-R2)+m/4 (R22-R1i2)+ts (bs-R2)

=40x 3.02+9x (118 - 22.5) + Tt / 4x (22.52 - 13.52) + 9x (89 - 22.5)

= 2072 (mm?)

ST
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23

@ yo' i
G

t hs - R2
G= 40 t2 — +(t+ —— ) ts (hs-R2)

2 2

(hs+t-R2+Y) m (R22-Ri12) ts
+ +ts (bs-R2) (hs+t-
4 2
Y
ts 4 ] T
Y= (2 ts+ ) sin2
24 1]
© t+h
o = Y= t+hs -y
y A yi y
9 4 )
Y = (2x 9+ ——— ) x X sin2 =11.7 (mm)
24 T
3.0 118 - 22.5
G= 40x 3.02x f +(3.0+ —2 )x 9% (118 -22.5)
(118 +3.0-22.5+11.7 )x 11 % (22.52 - 13.52)
+ . +9x (89 -22.5)x (118 +3.0
9
- —2 ) = 141927 (mm?)
141927 66.5 ( )
0" = =68.5(mm
y 2072

yi'= 3.0+118-68.5 = 52.5(mm)

@)
t ts o' - t)3 ts i' -R2)3 T
IR= 40 t2 (yo' - )2+ Ly ) + Ly ) + (R22 - R12)
2 3 3 4
(yi"-R2+Y)2+ts (bs-R2) (yi'- )2+ 0.055 (R24-R14)
3.0 9x (68.5-3.0)3 9% (52.5-22.5)3
=  40x 3.02x (68.5- — )2 + +
2 3 3
+ X (22.52-13.52)x (52.5-225+11.7)2+9x (89 -225)x (52.5
9
- —2 )2+ 0.055% (22.54 - 13.54) = 4373781 (mm* )
(4)
IR 4373781
o Zo= = = 63851 (mm3)
yo' 68.5
IR 4373781
o Zi= = =83310 (mm3)
yi' 52.5

ST



7-3

Oc Ob

O ca Oma(l-oc/0ea)

hs /ts=34.0( )
(ec) 1

YWRIVU2F VI
2y - Bs

SoNETryt

-7.3.1

oc=Nr/Ar
Nr =Pj1 /2 =1000 7/ 2 =500 (kN) = 500x 103 (N)
Ar =2072 (mm2)

500% 103
oc= = 241 (N/mm2)
2072
(2) [ ] Oca
o0 A" 8 Oca =325
o8 A" 115 Cca =325-1.42x (A'-8)x 1.50
A’ =Ils/r=972/459=21.2
Is = B-2 t=1000-2x 14 = 972 (mm)
r = W/ IR/ A = ﬂ/ 4373781 / 2072 = 45.9 (mm)

ST



o8 A" 115

0 ca=325-1.42x (21.2-8)x 1.50 = 297(N/mm?)

(3) gb

ob =-e'" Nr/Zo
ob=¢e" Nr/Z
gb
e'=h/2+t+ec-yo
=125/2+3.0+10-68.5=7.0 (mm)
0 b=7.0x 500x 103 / 83310 = 42.0 (N/mm?2)

(4) [ ] Oba

0 ba =325 (N/mm?)

(5) Euler O ea

0 ea = 1200000 / A *2=1200000 / 21.22 = 2670 (N/mm?)

Oc Ob 241
+ =
O ca Oma(l-oc/Oea) 297
=10 1.0 OK

hs/ts=118/9=13.1  34.0 (mm) OK

42.0

325 x (1- 241/ 2670)

ST
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8-2

-8.1.1
( )
( ) Po
= 1.10 Pp /\/ F
= Osy t Ip?
4 Es Ip/(1-v?2)
Pp=4 (t/IP)2 Os
lP=2 (Do/2-t/2) sin@s/2)
Do mm 3550
t mm 3.0
Is mm 972
0s ° 11.250
Es N/mm?2 210x 103
v 0.3
g sy N/mm?2 325
Ip
1.0 1.0x 3.03
—_—— = ———— =2.25(mmd)
12 12

ST

26



lb=2 (Do/2-t/2) sin@s/2)
= 2x (3550 /2 - 3.0/ 2 )x sin( 11.250° / 2)

= 347.7 (mm)

®3) ( )Po

Osy t Ip2
4 Es Ip/(1-v?2)
325x 3.0x 347.72
4x 210%x 103x 2.25/7 (1 -0.32)

O
Tn
1

56.754 ( N/mm?)

Pp=4 (t/IP)2 oy

= 4x (3.0 / 347.7)>x 325 = 0.097 (N/mm?)

1.10 x 0.097 x .| 56.754

0.804 (N/mm2) = 804 (kN/m?)

((PHL+PH2)/2+q)

Pvi+Pg  =207.104 + 3.145 = 210.249 (kN/m?)
PH? = 210.378 (kN/m?)

(PHL+ PH2) / 2 + q = ( 166.428 + 210.378 ) / 2 + 16.356 = 204.759 (kN/m?)

f = 210.378 (kN/m?)

f=210.378 (kKN/m2)  Po =804 (kN/m?) OK

P1=300 (kN/m?)  Po=804 (kN/m2 OK

ST



9-1
B
Fu b
M - 20 .
ls mm 55 —
An | Ab
An mm? 245 -
Ab mm2 314 I
Ring Nsb 4
-9.1.1
9-2
s
t l A\ /4
A
M o
has| J° DS =
g IS D b
hﬁ E— - |\ &S—FFFF —> n
N
i
™
|
-9.2.1
M
N
T= (M (1-8)-N (yo-t)) B
nsb  hes
T 1 (N/Ring)
Yo 58.2 (mm)
t 3.0 (mm)
hes 75 (mm)
B 1000 (mm)
¢ 0 (%)

ST
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29
T1(8 =0° )

M=11.758(kN m/m) (=11758 (N /7 ))

=0° N = 318.946(kN/m) (= 318.946 (N/ ))

(11758x (1 -0.00) - 318.946x (58.2 - 3.0) )x 1000

Ti1=
4x 75
=-19493 (N)
T1 O
T1 -19493
O B1L= = = -79.6 (N/mm?)
An 245
T1 : (kN)
O B1 : (N/mm?2)

ST



9-3

K
-9.3.1 K
a =145°
Q=N (sina -f" cosa )-Q (cosa +f sina )
fr=0.3( )
K 6 k=0° 50° Qk
0 N (sina - Q (cosa +
N (kN/m) Q (kN/m) f' cosa ) f' sina ) Qk (KN/m)
0 318.946 0.000 -12.778 0.000 -12.778
10 320.594 -6.469 -12.844 -6.749 -6.095
20 325.251 -11.669 -13.031 -12.174 -0.857
30 332.110 -14.575 -13.306 -15.206 1.900
40 340.006 -14.614 -13.622 -15.246 1.624
50 347.606 -11.808 -13.927 -12.319 -1.608

(Qxmax)

Qkmax = 1.900 (kN/m)

1Ring

Qkmax = Qkmax B = 1.900x 1000 = 1900 (N/Ring)

Qmax
nsb  Ab
1900
4x 314

KB =

= 1.5 (N/mm?)

ST
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Qmax = -14.614 (kN)

6 =40

Qmax = -14.614 x 1000 = -14614 (N/Ring)

T8
Qmax 14614
TB= =
nsb  Ab 4 x 314
= 11.6 (N/mm2)
O BlL -79.6 (N/mm?)
T KB 1.5 (N/mm?)
T8 11.6 (N/mm?)
0 baN/mm?2 T baN/mm?
4.6 120.0 90.0 OK
6.8 210.0 150.0 OK
8.8 290.0 200.0 OK
10.9 380.0 270.0 OK

ST
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